








Unit-V
(Compulsory Question)
9. () State Cauchy’s mean value theorem. -
() If y = e cos (bx + ¢) then y, =

...................

(i) State Leibnitz’s theorem.
@v) 8" — 3" is not divisible by 5. (True/False)
(v) Find gc.d. (121, 550, 770).

(vi) Find the remainder when 2%0 is divided by
341.

(vit) Does the set of positive irrational numbers form

a group under multiplication ? (Yes/No)
(viii) If (ab)®> = a®b*, V a, b € G, where G is a
group, then show that G must be an abelian
group.
(ix) Every cyclic group is abelian. (True/False)

(x) Identify which one from the following is not a
field : 3Ix10=30

(N, +, .), (Q, #, .) and (C, +, .)

CH-568 )




